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2018

POLITICAL SCIENCE
( Major )
Paper : 3.1
Full Marks : 80
Time": 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 10x4=40
. oo 2PART Ted i

{a) Discuss the growth and importance
- of international relations. 6+4=10

RIS o R WF @Fg SCEAD
9|
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(b)

(c)

A9/51

(2)

Or/ q%’1

Explain the nature and scope of
international relations. 5+5=10

TRAGT TR oS WF ™ awam
40 )

Explain the liberal approach to
international relations. 10

ww@uwwmﬁw
30

Or/ 937

Critically explain the six principles ;
of Morgenthau’s realist theory. 10

Y’ ABRM ©Gd WO AR

SRICEASIEE A 4 |

Explain various methods of
maintaining balance of power. - 10

BIO Sl W WA [fey =fe
T FT '

( Continued ) -



(3)

Or/ 931

Define national interest. Discuss
different methods for securing

national interest. - 4+6=10
wre 19 3@ f7q | w9 T Sl 9919
RfSq */afS wemw 347 1

(d) Explain the causes and
consequences of the Second World
War. 6+4=10

Rl fReyas IR S Feree A0 401
Or/ Al

Write a note on the emergence and
impact of Cold War on World

Politics. _ i - 5+5=10
Mo Tad AT WF 4 eRies TR

erored Ry «f6 (i for |
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(4)

2. Write short answers on any four of the
following : 5x4=20

oo R (e IG5y Teg ol

(a) Explain various models of
international systems as mentioned
by Morton Kaplan.

o PG SrEd T BB Taled
RSy =¥ qmram <4 |

(b) Diécuss _ﬁve features of collective
security.

R Rarerar #fobt CafEs e 01

(c) Expla'.in.'the_ importance of ideology
in international relations.

wmﬁu%wﬁmww:

A9/51 : ( Continued )



(5)

(d) Mention five causes of the First
World War.

ﬁWﬁWWW‘IWWI

~ (e) Write a note on neorealism.

W-Wﬁmtﬂmﬁmﬁw

() Mention the relevance of balance of
power in contemporary times.

PINAE  NERNS  FOR  S[NE
AT Sty 90 |

3. Write very short answers : 2x5=10
o 5 Taq fora ;-

(a) Mention two differences between
international relations and
international politics.

YRAB o F WF AR AN
TS YOI AN S 347 |
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(6)

(b) Write two principles of Morgenthau’s
realist theory.

TS A gd 71 S o |

(c) Mention two classifications of
national interest.

oW T 51 oFR S 391 |

(d) What do you mean by decline of
ideology?

Torfa ST Jferca & w1 2

(e) Mention two measures of collective
security under the League of
Nations. '

ST T 2% T TR PR
JF TEY 41
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(7))

4. Choose and write the correct option of
the following : 1x10=10
ICLCIRe 168 IR ET ﬁwﬁ MR SRiew o
fer
(a) Which one of the following regarded

the idealist as the children of light?
e ol U S e B G T e A EC
S @ A e 2
" (i) Neibuhr
GRE
(ii) Spykman
e e T
(iii) Schuman
A
(b} Robinson divided national interest
 into : , |
Reee &y F4F ©onifee
(i) two categories
! SIS
(i) four categories
- BIfRGT SIS
~ (i} six categories

0! SI9e
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(8)

(c) The term Cold War was. first used by

et @ ¥ LAY I IR

(i) Prof. Lippn;a.n
0TS fooieT

(ii) Bcfnard Baruch
T Y

(i) Van Dyke
o TR

(d) Who said that international politics,
like other politics, is a struggle for
power?

@A IRE IR qwAS, o
qeAfey Bifar, weR o Ame
(i Morgenthau
JoMY’
(i) David Apter
cofn SR
(iii) Robson
[=A
A9/51 _ ol “ ~ (Continued )



(9)

(e) Who of the following is the supporter
of system theory?

O (AT M@ SorS GRS el 2
(i) Hedley Bull
Sf
(i) Morton Kaplan
o4 1A
(i) Martin Shubik
R pRe
() Who wrote the book, International
Relations Today : Concept and
Applications?
(A International Relations Today :
Concept and Applications 91 <%
faRfee 2
(i) John Baylis
T 32fers
(i) Aneek Chatterjee -
I CoBrEt ;
(ii) Mahendra Kumar

W2H IR
A9/51 | : ( Turn Over )



(10

(g9 The World Economic Depression was
occurred in the year

ey St w1 R Cafem
i) 1928
S83Y 5O
(ii) 1929
555 B o
(iii) 1930
Y590 B

(h) Who was the author of the book, The
 Twenty Years of Crisis?

The Twenty Years of Crisis N3 I8
fore 1 2
(i E. H. Carr
2, @%p. I1
(ij) J. Frankel
(8. FICIA
(iij) Hartmann
O

A9/s1 | ( Continued )



(11)

() In which year was the Temporary
Mixed Commission formed?
@ vre wEl e W@ 9 =
cafee 2

(i) 1920
Saxo

(i) 1922
PETRY

(i) 1924
>ax8
() In which year was the Locarno Pact
signed?
@ 5TS @A (2 IrHRe (2R 2

() 1924
a8

(i) 1925
s8¢

(iii) 1926
pE-R AL

o4 ¥
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POLITICAL SCIENCE
( Major )
Paper : 3.2
( Public Administratioﬁ )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Sfor the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

: 1x10=10
wers i eppTed Al B far -

(a) Which of the following concepts is
not associated with ‘New Public

Management’?
(Community participation /
Efficiency / Planning)

(Choose the correct answer)

ToR QO] YR AP - T

oS 72 ? .
(TR SRR / Tl / “{f351)

(o Tewhl IR Bfeear) -

{ Turn Over )
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(2)

(b)) Who wrote the book, Reinventing
Government : How the Entrepreneurial
Spirit is Transforming the Public Sector?

(Christopher Hood and P. Hoggett/
David Osborne and T. Gaebler/
Luther Gulick and L. Urwick)

(Choose the correct answer)
Reinventing Government : How the
Entrepreneurial Spirit is Transforming
the Public Sector S®3 (ITCA 6411 SffRet 7

(@FRTR =© wF A T/ cefon ew’d
. ORE/aN o S @@
RISIEE)

(om Teah! IR Tferean)

(¢ The ‘Hawthorne Experiments’ are
associated with the

(Bureaucratic theory/Human
relations theory/Scientific
management theory/Principle of
hierarchy).

(Choose the correct answer)

‘Hawthorne Experiments’ &8 3'te

e -
(VeETelge ©g/TWa o ©g/
e IJeF og/SfET NS)

(o= Taeh! AR Sferear)
A9/52 ‘ ( Continued )



(d)

(e)

()]

A9/52

(3)

Which of the following is not a
classification of hierarchy?
(Pay  hierarchy/Area  hierarchy/
Rank hierarchy/Job-task hierarchy)

(Choose the correct answer)
oY (IO HAFT AT TIPS T 7

(@oq  wfagw/ge i@ /s
e / o3y SigeH)

(R TaAch! A% Sfrea)

Write a major necessity of ‘span of
control’.

‘fged “RMRA'7 9B 70 ecweAwe s |

Write a major principle of delegation.

SRR b1 3 TS foran 1

Which of the following books is edited
by Dwight Waldo?

" (Towards a New Public Administra-
tion : The Minnowbrook Perspective/
Public Administration in - a
Time of Turbulence/Administrative
Behaviour/ The Study of Administra-
tion)

(Choose the correct answer)

( Turn Over )



(4)

T (T 217 B26 AT {1 Ffafee 2

(Towards a New Public Administra--
tion : The Minnowbrook Perspective/
Public Administration in a
Time of Turbulence/Administrative
Behaviour/ The Study of Administra-
tion)

(o Teachr R Serear)

(h) The Chief Executive of India is
(Presidential  type/Parliamentary
type/Collegiate type).

(Choose the correct answer)
SREIE 37 IR 7'
(TR 43A/ACTY 131 /3= aﬁfﬁ)

(o= b AR Sferean)

() Write a principal necessity  of
Independent Regulatory Commission’.

To3 g a9 9 A foran |
() Give a suitable definition of ‘public
administration’. '

‘G-I’ BT oe e wifd 4 |

A9/52 : ( Continued )



(5)

2. Answer the following questions : 2x5=10
. o oPARE e o

fa) Write any two demerits of Independent
Regulatory Commission.

¥or fRuge SR f G o1 oy fore |

(b) Write any two hindrances of delegation.
SRR R G 101 sifesmel o 1

() What is ‘entrepreneurial government’
in the concept of New Public
Management?

T TR-IRE AN 4TS T 5991 [ 2

(d) Write any two demerits of hierarchy.

“wiRey ST R @ 7o ¢ o o

fe) What is New Public Administration?
TP (-2 R 2

3. Answer in brief (any four) : 5x4=20
5 e foran (R ceen wif¥dr) -
(a) Explain the scope . of public
administration.

ER-2PIPTR S5 I 90 1
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(6)

(b) Discuss briefly on flimits of span of
control’. Do you find any changes in the
limits with application of information
and communication technology?

‘g »fRfEa ' eo[ S ST Seersl I
O S IS ST ofeHoR wiewcs g
“{f<f&T S R« a1 iR 2

{c¢) Write the merits of Human Relations
theory.

AR o O TR oA |

(d) Write the important functions of the
Chief Executive.

T4 RO el I B |

(e} What is politics-administration
dichotomy? Discuss the contribution of
Woodrow Wilson in this dichotomy.

EANS-PY R-Remm T /B2 @3

fR-fRemme Ty’ TE6A1 SR SCesl 347 |
4. Answer the following questions : 10x4=40
o9 2P bed o

{a) Critically examine the concept of good
governance. ' - 10

3-2PIPTR {RECOR STICATSAIRIE 37l 341 |

A9/52 ( Continued )



(b)

c)

A9/52

(7)

Or/ &1

Discuss the evolution of public
administration as a discipline. Why is

the study of public administration
important? 7+3=10
SR REg R @R-erheR @R
WA T G- S R
w2

What is legal-rationél authority?
Discuss the bureaucratic theory of

administration. . 3+7=10
Tee-IfEe w9y 2 PTEE
HAEATSIES SGo] SCEAD] 41 |

Or/ 73

What is time and motion study?

" Examine critically the  scientific

management theory of administration.

_ 3+7=10
S W Afed SyEe 7 e [AEiee
JRFIF] TLOH TALEABAIT R F41 |

What are the differences between
centralization and decentralization?
Which principle do you prefer in a
federal administration—centralization
or decentralization? Why? 5+5=10

( Turn Over )



(8)

@A uF [FHeR T Afernz B
&7 o8N PIPTe O FFCH T o5
FRAI—FEFT & Revqesa? R

Or / T

Discuss the techniques of supervision in
public administration. Why are these
techniques important? 8+2=10

EIRF-2PPFe  IFR  AROHR S
0| R 1R R aweeo?

(d) What do you mean by staff agency?
What are the functions of staff agency?

Explain.
4+6=10
RS (o6 i {@r ? S (AN W
B &m0
Or/ 7z
Discuss the means of coordination. Find
out its hindrances. R 6+4=10
T JHREPTR ST 41 | W EHPRR
- R
* &k
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